| RecoVix_vs_GenVix

60

50

Reco vertices

40

30

20

10

L}

Ratio
&

=
T T T T T T 11
<

0.95

o

30 40 50 60
Simulated interactions

1020

MatchedRecoVtx_vs_GenVix

Matched reco vertices

Ratio

60

50

40

30

20

10

!IIII|IIII|IIII|IIII|IIII|IIII

FRVA)

T T T T X T T 171

2030 40 50 60

Simulated interactions

E V_UI | LUéJJ.LU ?APJ ttufpgtagponig f
- I§<(e LA e thRn L ar e e-Stehs—piop o 1-ctaspaiozpa
erged vs Closest) = Bg s I§8 Ci mEﬁg - H%FS%§_‘§E§§%: E8§1E8}?8E35E8E85E3

©
$.045
o
D)
£0.04
0.035
0.03
0.025
0.02
0.015
0.01
0.005

2 i -1
1
Closest distance in Z (cm)

Mergfbrate

© o
o =
E O

.....................................................................

15 20
Z (cm)



	Contents
	Page 1


